THNAFEERIEFANLGR

BALE TH %) A IEEHBF | g | EHEE BHE A%
4A278 [EFFIMREREEE REXBRIERI-1) RETMEFFHA 10,994,000 10,200,000| 4k X LR AHRAL — %
4A278 (PRIMREBEEEEX REXBRT Rt iR EEEEE A 3,079,000 2,466,000 4k Xt S HE —fi%
5188 [ERHRIE (FEEICH AHXEDERR-ZD8) FEaTkBA 39,787,000 36,081,000| %k X &=t K% —fi%
5A18H [BREFERIKEELIHKBEIS RETERETHA 11,220,000 10,324,000| 4k Xt KA #E — %
5188 (PRIMREEEERX HIRITRETIEREI—1) RBTRBETHAE A — - Tk — %
5188 |MRIMREBEEE EMAIBNITLEEHRI(R4-1) Rt iR EEEE LA 2,530,000 2,024,000 #k XL K¥ — &
5A188 |7 ENERMLUBIETIEHRAEBER FAmLHAHA 12,002,000 12,000,000\ ERE#HT7—FTVIKE —fi%
5188 |FATIRKERER LHKENIIEIERFEBZR R T RET A 1,584,000 1,530,000\ 1 B R & &% & — g
5H18H [AR T AKEERHEBEE(RI—155K) RATIERMA 9,791,000 7,832,000 %;é«;:%ﬁ”’g’ MERRAER | g
5188 |A#T/KEERFTFHRTE(R4—35K) RATHETBHA 8,741,000 6,992,000 ﬁgi%%iﬁﬁ%gﬁﬁﬁ —h&
5188 |AHT/KEERFTFHERTE(R4—275K) ROTARSRETBHRNEL 8,582,000 6,865,000\ kXt EAR T+ REBHRAT —H&
5A188 |BBRFlmakat *BEE(2—-324—-1518) R TIT LIS Hh ) 14,675,000 11,740,000 ﬁ%gg%/ww%ﬁﬁ%ﬁ —fi%
6H8H |{EREREIE(2—388E1IK) RETMRERMA 48,492,000 44,112,000 D2 R A =1L — &
6A8H |Ryyr—OXEIE R ERBMA 23,119,000 20,840,000\ AR =+ R EER — %
6388 |HIFAMERRBEHFIE R EHEHAEM 30,190,000 28,500,000 A PR = +1 fENFfT 8% fi% —fi&
6A8H |SEHRIE (FEAT—HMNCHIE) R TAEH A 2,649,000 2,356,000 HR & R IEE —fi&
6F8H |EIIHFEE GENL) EHFETCRAERIEZH) RAMTFEAEM 5,449,000 4,359,000| F R =t #xEE —fi%
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BALE TH %) A IEEHBF | g | EHEE BHE A%
6F8H |EHEM GREMN) REXBERT RATIRRBAITH 5,182,000 4,145,000\ %X B AT —U E —fi&
6A8H |SAVTEEERATIMREREREEX HRHEMERANEXHFER |RaTKABRAITH 18,858,000 15,420,000|FBAIE Xt RAEEM — %
6A8H |BEFRFEHEIT(RI—1) RETAEE 10,103,000 9,800,000\ kX BIR BHEILIMIIE — %
6A228 [A#TKEEMRIE(R4—4FK) ReT/ETHERA 93,082,000 67,600,000| kXS ERIF T2 — %
6A228 [AHTKEEHMHRISE(R4—55K) FRAT/NETEM A 82,268,000 59,000,000| kX =R ALK —fi%
6A228 |RAERT)—I—VBERETIE RAETEAHA - - R —h&
68228 |TER/NERARESNEBHIETIE FRAT/NETHER 41,220,000 40,810,000\ kX2t ER AR T AT —fi%
68228 |RARBT)—VN—UBRRFREIE RehESHA 94,350,000 66,500,000 XEHEHER LS — &
68228 |MRIMREBEEE HBIRETLE(R4—1) RAETRAET AT, 14,221,000 10,300,000| kX =+ RIR EHE —H&
68228 [R4AFEBRT)—vN\—IHEFIIELS RehESHA 107,600,000 86,000,000/ IEFI T ¥k X =4t —fi%
6R228 (IBIEEIERAENIADEMRATSE FATHGBHEA 29,910,000 24,930,000 kX =t KA 48 — %
68228 (BEZILSSSEOFENYEXBERIT(RY) FehRBEmA 1,015,000 828,000| kXt EHE —fi%
6A22H [EBRAIREEFRBERT RAmALE 30,034,000 24,500,000 AR R REERAN — &
6R228 [RIERERFTEHERFL(R4-5) FATEER T 12,525,000 10,020,000{#k X &4 Ki¥ — %
68228 |BIEREHRFFEBERITE(RI—2) RBTHRAHBAITH 10,208,000 8,166,000 #k X = #L K¥ —fi&
6R228 [RIERERFTEHBERIL(R4—3) FATEHRIEH 8,408,000 6,726,000| B R+ KFIIRAE — %
6R228 [RIEHRFEBRTE(R4—4) e T R P Hth 6,237,000 4,989,000\ XV AR R EHRE — %
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6A228 |RANEREERBEHAREBERT RATEBHAITA, - — AR —h&
6228 [RAFEREERFEMNRREBRT R FHHAITH 2,450,000 2,400,000\ R T —FTVIKE —fi%
68228 |BETEHRBREBEIE(RA—3) ruthes 17,424,000 13,939,000| kX4 KiE BHEXIE —fi%
68228 |BETHRBREBEIE(RI—2) rutheE 16,511,000 13,208,000 Egg%azk«ry&—b —fi%
68228 |BEEHRBREBEIE(REI-1) raheE 13,078,000 10,462,000| %X HFEE L —fi%
7TRA6E |EBHRIE(R4—4) RETEZ A 11,381,000 10,217,000k XK1t F= 0> —fi%
7A6B |[EBHRIE(RLI—3) RAMTFEtmA 11,203,000 10,049,000k X =4 D5 —fi%
7A6E |EBHRIE(R4—D5) RRTHEahR 10,965,000 9,841,000k XEHHFARLHIE — &
7A6B |[EBHRIE(RI—2) RehE bR 10,717,000 9,614,000\ AR =4t M H 132 — %
TR6H |FREIMXEEERX SEEFIFE(RI-1) RETRBETH A E A 36,291,000 32,734,000 kX2 B AT ) — 2 E — %
TR6H |WMEEBEIERE—1) RO TR A 15,295,000 13,678,000| A EEZM XS4t —H&
TR6H |FRIMXEEEERX BV -YWHAERERBRE(RI-1) RATRET AT A 15,598,000 12479000k XEHELHE RAXIE —fi%
TA6H |FREIMREEBEER PILEEYRER TR FEBERT RBTHRETH A IE A 7,915,000 6,332,000 #k X =+ K¥ —fi&
TR218 [A#TKEEMHRIE(R4—375K) RBTHRAHA 90,572,000 67,760,000| kX =t KA # — %
TR218 [A#TKEEMHRIE(R4—175K) RATIRE M A T A 59,329,000 46,400,000\ A fREEEMRA 4L — %
TRA218 [A#TKEEMHRIE(R4—275K) RATIRE M A T A 53,606,000 41,900,000 kX NHEEHRIT ¥ — %
7A218 |AEMERIE(RA—2) REMRETHA 8,191,000 7,334,000k X+ EHIHIE — %
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BALE TH %) A IEEHBF | g | EHEE BHE A%
7A218 |[AEMERIERE—1) RATHERMA 5,456,000 4,885,000\ R4t #EF1V ) —> —fi&
TA218 |MEAEXRBRIE(R/EAI) RAMRAHA 4,591,000 3,672,000\ FR=+LIER RAZE —h&
7A218 (EE1405 1M\ EBREIRBEERERT ATk EHA 3,072,000 2,840,000| 1 =A 2RI EK KR4 —fi%
TA218 |/METHEERIL X E R EEKE B R E X F R FRAT/NETE R 2,783,000 2,226,000( 1= Bl EM K =1t —fi%
8A3H (R LBFEHEFKEVIVEILISE AT ESETE1T BN - - A5k —h&
8A3R |FRATMKESEXE ERKEMREIRE(EHI-7IK) RemEREEHA 101,960,000 71,100,000 BB H X =1t —fi%
8A3R |FAMKESEX ERKEMREIE(EH4I—2IK) RO LLEEITEE T B (Zh 97,780,000 68,290,000| kX =4t 85K TH5Fr — %
8A3H [AHTKEEHMKRIE(R4—65K) FEamELthR 60,954,000 45,400,000 A fREHE X 1t — %
8A3H |FAMKEST¥ ERKEMRKEISE(EH4—-8IK) FEATTHAAIEH 13,090,000 11,767,000( B PR =11l S T 5% 1 —fi%
8A3H |SEEHETIE(R3I—4) R TRRIR A 14,008,000 12,517,000 4k X =+t K& —fi%
8A3R |RAMKEER WMEAEEIF(FHI—2ITRK) FOTEET2T B EH 13,030,000 11,686,000 H PR+ KEF 2 B — %
8A3R |RIEREHKFTFEHERT(R4I—6) RATHAMAIFH 14,405,000 11,524,000 F 13> Y LAY BRS 1 —h&
8H22H |RATMKESXE RKEMXBIE(EH4—-3IK) RAMAR A 41,870,000 37,878,000|fEEZ X =1t — &
8A22H [RATMKERX RAKEMRBEIF(BE4-1IK) RATRAETST B A 40,700,000 36,882,000| BB =4t —fi&
8H22H |RATMKESEX RKEMXBIE(BEH4—9IRK) FATTREE 1T BHA 19,860,000 17,884,000\ ER &+t K — %
8A22H [EBHRRIE(R4—6) AAETRAERMA 12,898,000 11,596,000| 4k X &+t #hiiE T /5 — %
8A228 | R IFMLEEREMERERIE LS RATHRBEFHRAIEH 18,910,000 18,800,000()I| A HF TRk &4t —fi%
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8A228 (BEEEHKLEHER (KABBR)KEIE RBTAB A 214,150,000(  196,000,000()I| A FF T E MK 1t — %
8H22R8 |TEEERHKRELUI—MAIE FRAT/NETEM R 103,227,672 76,500,000|7k HE KA =4t —fi%
8A228 |BEKEAIERETRBERIE(RA—-1) RATREMAE A 5,040,000 4,535,000 %X =1t K% —fi%
8A22H (EFFLHREREER BY-MUHRAEREXBRIE(R4—2) |RETEFFHA 2,485,000 1,988,000 kX4t Ki¥ —fi%
8A31H [REEMIE(RI—1) EATLEAETHN 7,676,000 6,877,000\ H R+ B K —fi%
8A3IA |FATMKESZE RAKEHAZBEIZ(L—4IR) FEATE LR 7,420,000 6,653,000( HR &+ R TEE — &
8A31R |ERFERTZERFHEIE RAT/ETHEA - - ik —h&
8A31H [MEEHEIE(RI—2) FRAMKRBHA 17,931,000 16,050,000| %k X &t K% —fig
8A3IR |RAMKEER MEAEHIE(EHI4-3IRXK) RAMLLERT2T Bt F A 8,300,000 7,426,000\t X2+ IR EL —H&
8H3IA |FRATKESE HE8I3BKEBK-FEKESERRT RBTREHA 1,170,000 1,050,000/ kX =t HSK RAARIH — %
8H3IA |FATKESE HE85B5KEBK-EKESERRT REhEHA 1,170,000 1,050,000/ X=tt HEK RAARZH — %
8A31H %;?g;?%i%ﬁﬁ%gi%miﬁ Re kBN F A 20,282,000 18,250,000\ FIM X4t RAE XM — &
9F 148 |RATKESXE RKEAXBIZ(EHLI—1IRK) RAMARAITH 112,740,000 75,948,000 | Bk X L KH —fi&
9F 148 |RATKESX RKEMXBIE(BEH4—4IRK) RETMEFFHAEH, 53,670,000 37,495,000 R X =1t K% —fi&
9F 148 |RATKESXE RKEMXBEIE(EH4-6IK) RETARMA 49,870,000 33,330,000| N HEZ R =1t — %
9R148 A EHIE(R4—1) RRHEHBA 38,022,000 34,310,000| kX = K%K —fi&
9A 148 [EFFLHRERERE HREEIFREI-1) AT EFF A 25,723,000 23,172,000 R =+t A+ L 32 — %
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9A 148 |EBRRIE(R4—7) FATHPHA 15,169,000 13,627,000 #k X =1 D%H+° —fi&
9R 148 [RAKEMHZRIE(R4—1) FamEHEHN 11,061,000 10,001,000 #k X =t ¥ LTEEK — %
9R148 [FAIIZRIE(RE—1) AT 16,691,000 15,175,000 #k X =L K% — %
9R 148 [RATIRKEEFERARERHERELIS RATETHA 7,340,000 6,750,000 #k X IURER —fi%
9R 148 (BRATRABERNKIE FERTARERTHA 105,388,000 86,600,000| kX =1t KA # —fi%
10858 [ME#H105#H BRHRIE(ZND6) EATIRMAIFEL 52,473,000 42,600,000| N HEEH A1 — &
10858 |[RATMKEREE EKEMREIF(EH4—5IR) FATTHE A A 52,210,000 36,900,000| kX NHAEHZT X —fi%
10858 [RATMKEREE EKEMRKEIE(EH4—10IR) RBTRAHA 27,540,000 24,853 000| kX=X KL K — &
10858 [RATMKEEE EKEMRBEIFG-1IK) RATMRARMBAITA, 26,830,000 24,194000| X = F- LY —H&
10A58 |ERHRIHE(R4—11) RATH/NATE A 18,419,000 16,575,000 #FTkE R H A =4t — %
10A58 |ERHRIE(R4—9) RA T KB A 15,384,000 13,809,000 F B Z kK 24t — %
10858 [EBRHRIE(R4—10) RehalthR 14,515,000 13,037,000 4k X &=+ D5H+° —fi%
10A58 |ERHRIE(R4—8) FRAMEA DA 10,837,000 9,727,000/ R/ LTET R —fi&
10A508 |$HBEHREISE(R3—4) AT A 10,810,000 9,718,000 R /MBI X — %
10858 |IH%REMPDORIBFRKIERELSE FATME SR - - TR —fi&
10A58 |EBHRIE(R4—12) RAATHRZERA 8,340,000 7472000 kXt EHITHIE — %
10A58 |FATMKESEE EKEMKBEIF(4-3IK) RATEFFHA 6,570,000 6,030,000| B R+ RA 1w TR —fi%
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10858 |AERTMEXAEFFEIRFERIELSE RATABRMA 4,930,000 4,750,000\ I AR TE KA —fi&
10A58 |RATKEER BEAERAIE(EH4-4ITRX) RBTRKBHAITH 15,310,000 13,735,000 FREZ KA =4t — %
10A58 |HEAEIHITE(R4-3) RAT/NETHMEA 5,856,000 5,263,000| BERELEBIH 1V —fi%
10A58 |S#HEEB#EIE(R4—3) RATHAHmA 5,460,000 4,857,000\ R = #xEE — %
10858 |z AMXNEFEHREWMBRFERIELSE FEAMizOMmR - - R —h&
10858 |EMPEREFHRCBEIFTERGTEREEHFER RATILAA - - ik —h&
10A58 |EEFItREREERX EY-MUREREXRHERRLI4-3) [RATEFFHA 3,578,000 2,862,000/ 7—/ 1\ TS BBt —fi%
10A198 |RM LEFERRKEDYELISE EAT ELERTTE1 T BhN|  306,685000)  299,800,000| B E X4 &4t —fig
108198 [RATH/KEEE BRKEMREILE(EH4I-11IK) FehEBEA 25,210,000 22,734,000 R X2+ IR —H&
108190 |{ERB#EIE(2—39854E21TK) AT RERMBA 21,662,000 20,000,000\ kX =12 THIE —fi%
10A198 |RBTKESRR EKEMZKBELSE(EH4-12IRK) et A 21,010,000 18,923,000| 4k X &4 D5+ — %
108198 |HEHREIE(R4—1) RehESHA 13,539,000 12,160,000 4k X &=+t D5 +° —fi%
10A198 |SHEAXEIETE(RA-1) RBTRA A 37,314,000 33,613,000\ XEHNEERTE —fi&
10A198 |RATAKEER HEAERIRE(EHI-1IK) RATAREETHAIF A 6,670,000 5,961,000\ 4k X =+ ISR — %
10A 198 | tHEESKEES—~ LTIV O— LB IS AR KIFHA 5,960,000 5,900000| ) RXEHE—TV/ BRERXIE — %
10A198 |ZEARENNEFISNLZEEREIEREEFRT RO THHTA A - - N —h&
10A198 | RATKESXR F615KFRASHRTEFRRT ROTEFFHA - - N —h&
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11A108 | A TKEEMRIE(RE—75XK) FATR A IE A, 50,731,000 35,200,000 f XS+ NHAER T X —fig
11A108 | EBHRIE(R4—13) FRAT/NETEM R 11,559,000 10,402,000\ B RRE= 4L E5 K T KEH —fi%
11A108 (e L MERE TS (FH A RAMHFHMA 1,958,000 1,747,000 ik XA FT H iR 2R —h&
MA108 |RBTIRN—IVANIZEFEISE RAMEBEEMA — — & —h&
11A108 (AR BEKERIRR I EHE RAETMRAERHBA 17,131,000 14,720,000 ;g%’%ﬁ"g"‘ﬁﬂ%ﬁ —h%
MA10R |[FREMXEEERE BV -YWHAEEEEBEE(RA-3) FEAThETHEA F A 4,914,000 3,931,000 #4 X &t v v AERISHE —fi%
1MA248 |[BEFIHREEEEE HREEIFERI—2) RAHEFFHA 19,315,000 17,387,000( FR&=+1 K —fi%
11A248 |FATKESE RKEMHBEIE(EH4—14IK) RATEIL A 11,610,000 10,434,000 B PR =11 123 — &
11A248 |HEHREIFE(R4—2) RAMARMA 10,029,000 9,010,000 AR=#MH L2 —H&
11A248 |RATH/KEEE EKEMKREILE(EH4-13ITR) AT IREN A 9,490,000 8,511,000( HRE=#t A FH L — %
11A248 |SHEXEIELE(R4—-2) RATEFFHRAITH 53,428,000 43,695,000\t B2 ER bR X =1L — %
11A248 |[RAT/KEEFE WEAEIHIE (FEEEH FehRBEmA 28,920,000 22,900,000| X EHNEERTE —fi%
11A248 |REHFEERMBEBRERISE BT A - - Tk —fi&
11A248 |#H%#HRTE (R3—8) FERTEAIEA 3,575,000 3,183,000| R &+t I —fi&
11A248 |#H%#H%TE (R3—6) e ERBA 3,039,000 2,706,000\ BEREH KERRT X — %
11A248 |SEHHRTE(R4—1) RRHESHA 2,097,000 1,862,000( H R =4 FKIEE —fi&
11A248 |S%EHHRTE(R3—7) rAH EHFEHMAITH 1,672,000 1,484,000(F PR = #1 U518 —fi%
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11A248 [z QMR NEFREMERFRIETS RAEMTZ AMA - - AR —h&
MA248 |2EARENNEISILZFERETE R EF R R TE AR — - iR —h&
12A78 |EBFFLHREREER ERIE(R4—6) RATEFFHA 6,278,000 4,394,600 kXS EBATHE —fi%
12A78 | A TKEEMRIE(RE—9IEK) REMEFFHA - - Tk —fi%
1278 |\ EXREFAFERENIRELSE RATTFEHtR 13,970,000 13,690,000 (#k X &+t HUSEER —fi%
12A78 |HEAEIHIE(R4—4) FAMLERMBA 11,677,000 10,431,000| %R BART Y-V E — &
12A78 | A TKETUR—ILBRARTHREEHIE(R4—1) R HRTET A 17,267,000 16,850,000 %fig;igii% B E —fi%
12A78 [EEZEILSDSSEDFARMBKETIE(RS) RemEREEHA 2,156,000 1,929,000 kX EH RER — %
12A78 |FOTKESEE F645KBKPTLENASHAB RS EBERR FEATHE A 2,656,000 2,330,000| X RSCKERT BRERAR | —#K
12A78 |FEATHKEEE £6185KEKFTLEMASHESERSE RATEFFHA 1,924,000 1,545,000 kX2t B RAARZH —fi%
12878 [[FAaMKESE F615KRAERITFEBRE REHEFEFHA - - &R — &
1A188 ([PREIMREEEER AlIEHHKIE(RI—3) FATAEET P H 8,054,000 7,217,000\ E R #RTEE — %
1A188 | A TKEEMRIE(RE—9EK) RBTHEFFHA 2,736,000 2,600,000| FRRE4ZEE —fi&
1R188 |MXEEHKRIE FehLEFaHRA 5,744,000 5,550,000| (kX =+ ISR —fi&
1A188 |SH#EAEIHTE(R4-5) RBTRKABHBAITH 16,607,000 14,859,000k X =R KL K —fi&
1188 [RAaMKEEE 218 KRKPFTLENASHERUEHBLSEBER |FATLEBRHA 2,753,000 2,230000| (ks X= HSK REARX# —fi&
1A188 |RAMALTKEERER SR -AERVDH - FREVREBZERI-) [RETA 16,569,000 15,600,000 #k X &=+INJS BIREHAT — %
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BHfL B THERS TE (¥R G (Bt ) (B ) EHLE ARLAE
28218 |[RATERYT EXESI—28H(A)BERELSE FEamikrEthR 50,710,000 41,690,000 R & # ER/KE TG —h%
28218 (BB LEBEE7 I O—FEERTERRS BAT LR T BHAIEH, 36,647,000 24,500,000| ¥k XS+ EEAFERET B EEIEAT —h%




